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948001 Goldfarb Report REPORT 1680(continuation)
$.21 Q.22 Every year, some Canadians who travel on vacation or on business in other countries are arrested by the

authorities in those countries for smuggling drugs. Please indicate how strongly you agree or disagree with each of the following

statements about this type of situation.

--- In most cases, Canadians get special treatment in foreign prisons because Canada has a good international reputation

UNION
SINGLES EDUCATION AREA RESIDENCE HOUSEHOLD SIZE AFFILIATION LANGUAGE
Adult Single Single Less Some/ Some
Child Male/ Female/ Than Compl. Tech./ Univ. Jor Non-
TOTAL At Home No Kids No Kids H.Sch. H.Sch. College /More Urban Rural Rent Own One Two More Union Union English French
Unweighted row 1667 162 180 174 157 659 455 380 1332 335 603 966 155 517 978 587 1067 1168 499
TOTAL INTERVIEWS 1400 130 149 163 130 546 355 353 1273 127 493 830 142 458 784 477 913 1086 314

100.0 100.0 100.0 100.0 100.0 100.0 100,0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0

Agree strongly
(100) 29 4 4 5 4 16 5 5 26 4 15 13 3 12 13 9 20 19 10
2.1 2.8 2.4 2.9 3.0 2.8 1.5 1.3 2.0 2.9 3.0 1.6 2.1

Agree somewhat
66.7) 92 19 10 10 1 34 22 24 87 5 34 49 6 31 54 26 66 63 30
6.6 14.6 7.0 6.3 8.7 6.2 6.1 6.9 6.9 4.1 7.0 5.9 4,2 6.9 6.9 5.5 7.2 5.8 9.5

Disagree somewhat
(33.3) 252 21 28 20 25 101 56 68 225 27 101 142 21 87 142 o1 158 173 79
18.0 16.0 18.6 12.4 19.5 18.4 15.9 19.2 17.7 20.9 20.6 17.1 14.6 19.0 18.1 19.0 17.3 16.0 25.0

Disagree strongly
(0) 684 56 68 75 46 262 183 189 626 58 223 425 62 220 392 250 429 569 115
48.9 42.9 45.6 46.0 35.5 47.9 51.7 53.5 49.2 45.5 45.1 51.2 43.7 48.0 50,1 52.5 47.0 52.4 36.6

bon't know 307 28 29 43 38 118 80 66 281 27 108 185 35 102 169 97 209 238 69
' 22.0 22.0 19.3 26.4 29.2 21.6 22.5 18.8 22.0 21.1 21.9 22,3 24,9 22.2 21.6 20.3 22.9 2t.9  22.1

D.N.S. 34 2 " 10 5 17 8 1 27 7 12 16 15 6 13 4 30 23 11
2.5 1.8 7.2 6.0 4.2 3.1 2.3 3 2.2 5.5 2.5 1.9 10.4 1.4 1.7 .9 3.3 2.1 3.5

Index(Maximum=100) 17 23 18 17 23 17 14 15 16 17 19 15 15 18 16 15 17 14 24
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